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Question: 1 
   

 
 
A. 9 
B. 7 
C. 13 
D. 37 
 

Answer: C     
 
Explanation: 

 

Question: 2 
   

 
 
A.  
B.  
C.  
D.  
 

Answer: B     
 
Explanation: 

 

Question: 3 
   

 
 
A.  
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B.  
C.  
D.  
 

Answer: A     
 
Explanation: 

 

Question: 4 
   

 
 
A.  
B.  
C.  
D.  
 

Answer: D     
 
Explanation: 

 

Question: 5 
   

 
 
A.  
B.  
C.  
D.  
 

Answer: D     
 
Explanation: 

 

Question: 6 
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Which of the following binomials can be rewritten as a difference of squares with rational coefficients? 
 
A.  
B.  
C.  

D.  
 

Answer: B     
 
Explanation: 

 

Question: 7 
   

 
 
A. 4 
B. 8 
C. 32 
D. 16 
 

Answer: C     
 
Explanation: 

 

Question: 8 
   

 
 
A.  
B.  

C.  
D.  
 

Answer: B     
 
Explanation: 
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Question: 9 
   
What is the 7th term of this geometric sequence? 
-1, 2, -4, 8…. 
 
A. 64 
B. -16 
C. -32 
D. -64 
 

Answer: D     
 
Explanation: 

 

Question: 10 
   
Which of these graph descriptions fits a relation that is a function? 
 
A. A vertical line 
B. A parabola that opens to the right 
C. A horizontal line 
D. A circle 
 

Answer: C     
 
Explanation: 
A function is a relation that has only one output for each input or only one y-value for each x- 
value. A vertical line drawn anywhere over the graph of a function will intersect the function at one 
point at most. Of the given choices, only a horizontal line fits this description. Each x-value of a 
horizontal line has only only-value. Therefore, choice C is correct. 
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